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ÿoˆÁTˆEı YÁPˆy‘] ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á 

(B.D.P. Term End Examination) 
◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 (December-2017 & June-2018) 

B◊¨K˜Eı YÁPˆy‘] ( Elective Course ) 

\…ˆ„GÁ_ ( Geography ) 
X[˝] Yy (9th Paper) 

Geography of Settlement : EGR-9 
a]Ã^  f V«c˜O H∞RÙOÁ (Time : 2 Hours) 

Y…SÔ]ÁX  f 50 (Full Marks : 50)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 

1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 

 (Eı) G–Á]›S [˝a◊TˆÃ[˝ aep˚Á ◊VX* B◊Tˆc˜Á◊aEı ]Tˆ[˝ÁV 

%X«^ÁÃ^› G–Á]›S [˝a◊TˆÃ[˝ Ê`“S›◊[˝\ˆÁG EıÃ[˝”X* 

 (F) Y“ÁE ı◊TˆEı Y◊Ã[˝„[˝` ◊Eı\ˆÁ„[˝ [˝a◊Tˆ G‰QÕˆ T«ˆ_„Tˆ aÁc˜Á^Ó 

Eı„Ã[˝ =Y^«N˛ =VÁc˜Ã[˝Sac˜ TˆÁÃ[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (G) ÂYÏÃ[˝ÁÃ^S [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊[˝`ü XGÃ[˝ÁÃ^„SÃ[˝ 
c˜O◊Tˆc˜Áa ae„l˘„Y [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) Eı]ÔW˝ÁÃ[˝Á %X«^ÁÃ^› `c˜Ã[˝ C XG„Ã[˝Ã[˝ Ê`“S›◊[˝\ˆÁG EıÃ[˝”X* 
◊[˝\ˆÁG - F 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 
(Eı) `c˜„Ã[ Ã̋[˝ EıÁ◊Ã̂ Eı GPˆX a+„EÔı [˝ß„Eı◊≥V–Eı ]Tˆ[˝ÁV Tˆ√º̄ ◊ªRÙO 

a]Á„_ÁªJÙXÁac˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(F) Christaller-AÃ[˝ ]TˆÁX«aÁ„Ã[˝ ÂEı≥V–›Ã^ ÿöˆÁX (Central 

Place) ÈTˆÃ[˝› c˜[˝ÁÃ[˝ Y…[˝Ô `Tˆ¤m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) ÂYÏÃ[˝Y«t G‰QÕˆ CPˆÁÃ[˝ EıÁÃ[˝Sm◊_ ◊Eı ◊Eı ?  
(H) G–Á]›S [˝a◊TˆÃ[˝ ◊[˝[˝Tˆ¤X a+„EÔı ae◊l˘ä %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(I¯) ÂGÁúˆ›[˝à˘ [˝a◊Tˆ G‰QÕˆ CPˆÁÃ[˝ EıÁÃ[˝Sm◊_ =‰{F EıÃ[˝”X* 
(ªªJÙ˜) G–Á] C `c˜„Ã[˝Ã[˝ =YEı„¢ˆÃ[˝ _l˘S›Ã^ È[˝◊`rÙÓm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 
(Eı) ÿöˆÁÃ^› C %ÿöˆÁÃ^› [˝a◊TˆÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X* 
(F) Doxiadis -AÃ[˝ ]TˆÁX«aÁ„Ã[˝ G–Á]›S [˝a◊TˆÃ[˝ GÁPˆ◊XEı 

=YÁVÁXm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) ÂYÏÃ[˝]c˜ÁY«t EıÁ„Eı [˝„_ ? =Y^«N˛ =VÁc˜Ã[˝S ◊VX* 
(H) Y“ÁEÀı◊`î XG„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(I¯) ◊c˜]ÁªJÙ_ Y“„V„`Ã[˝ "E«ı_« [˝ÁQÕˆ›'Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 
(ªJÙ) =VÁc˜Ã[˝Sac˜ =]À_ÓÁ„â¯¯Ã[˝ aep˚Á ◊VX* 
(ªK˜) ]c˜ÁXGÃ[˝ A_ÁEıÁ C ]c˜ÁXGÃ[˝ %á˚_ EıÁ„Eı [˝„_ ? 
(ªLÙ) Griffith Taylor [˝◊SÔTˆ XGÃ[˝ ◊[˝EıÁ„`Ã[˝ Y^ÔÁÃ^m◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
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Group – A 

1. Answer any two of the following questions : 

  10 × 2 = 20 

 a) Define rural settlements. Classify villages 
according to the Traditional View. 

 b) Discuss with examples how factors of 
physical environment help in the growth of 
a settlement. 

 c) What is urbanization ? Briefly discuss the 
history of urbanization of the world. 

 d) Give a functional classification of towns 
and cities. 

Group – B 

2. Answer any three of the following questions : 

   6 × 3 = 18 

 a) Critically discuss ‘Multiple Nuclei Model’ of 
urban morphological structure. 

 b) Give the premises essential for the growth 
of a ‘Central Place’ according the 
Christaller. 

 c) Discuss the causes that lead to the growth 
of conurbation. 

 d) State briefly the stages of evolution of a 
rural settlement. 

 e) What are the factors necessary for the 
growth of a compact settlement ? 

 f) Discuss the salient features of rural-urban 
fringe. 

Group – C  

3. Answer any four of the following questions : 

   3 × 4 = 12 

 a) Differentiate between permanent and 
temporary settlement. 

 b) State the structural elements of a typical 
rural settlement according to Doxiadis. 

 c) What is ‘megalopolis’ ? Give suitable 
examples. 

 d) Discuss briefly the characteristics of a pre-
industrial city. 

 e) State the characteristics of a ‘Kullu House’ 
in Himachal Pradesh. 

 f) Define Umland with examples. 

 g) What are metropolitan area and 
metropolitan region ? 

 h) State the stages of the growth of a city 
according to Griffith Taylor. 

     


